
Vled = 3.2V

Iled = 30mA

Vleds = 3x3.2V = 9.6V

Ileds = 30mA

Vleds = 3x3.2V = 9.6V

Ileds = 0mA

6x1.5V
batteries
= 9.0V

R

Light OFF

Vleds = 2x3.2V = 6.4V

Ileds = 30mA

6x1.5V
batteries
= 9.0V

R

 Light ON

VR = 9.0V- 6.4V = 2.6V

R = U/I     2.6V / 0.03A = 86.7 Ohms

Vleds = 3x3.2V = 9.6V

Ileds = 30mA

8 x1.5V
batteries
= 12.0V

R

Light ON

VR = 12.0V- 9.6V = 2.4V

R = U/I     2.4V / 0.03A = 80.0 Ohms

PR  = 2.6V x 0.03A  = 0.078W  = 78mW

Power dissipation in resistor

PR  = 2.4V x 0.03A  = 0.072W  = 72mW

8 x1.5V
batteries
= 12.0V

R

R

R

Ileds = 
3 x 30mA
= IbatteryIbattery

= 90mA

Led calculations                                  @ KAK 06.2011.
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